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e Please check that this question paper contains 11 printed pages.
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e Please check that this question paper contains 26 questions.
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e 15 minute time has been allotted to read this question paper. The question
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(iv) @UEC T ¥o7 G&I7 11 § 22 TY-3I709 F97 JPR I & &, I 97 3 37H]
#HE

(v) GUED T o7 G&IT 23 To¥ STLTRT Jo7 4 3761 &7 8 |
(vi) @USE H 97 G&I724 & 26 FH-3009 J97 &, Ic9% J97 5 371 HT & |

(vii) I97-99 H GHT T FI3 [dheq 761 8, 37 41 2 37 et ub 97 5, 3 37l arcd
T% J97 H 3K 5 371 aic? g4 di71 yoai 7 Hiatt we-laskey fw 1w & | g%
giersf %1 08 Y991 & ¢l [dheyl § @ HiT 0k J9T 567 FAT & |

General Instructions :

(i) There are a total of 26 questions and five sections in the question paper.
All questions are compulsory.

(it)  Section A contains questions number 1 to 5, very short-answer type
questions of 1 mark each.

(iit) Section B contains questions number 6 to 10, short-answer type I
questions of 2 marks each.

(iv)  Section C contains questions number 11 to 22, short-answer type II
questions of 8 marks each.

(v)  Section D contains question number 23, value based question of 4 marks.

(vi)  Section E contains questions number 24 to 26, long-answer type questions
of 5 marks each.

(vii) There is no overall choice in the question paper, however, an internal
choice is provided in one question of 2 marks, one question of 3 marks and
all the three questions of 5 marks. In these questions, an examinee is to
attempt any one of the two given alternatives.
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T us A
SECTION A

1. 98 q& kW fafgy hl sgeshieor # qfd  Stfeiusayfaadianss

ITSHIThS HLd 8 | 1

Write the dual purpose served by Deoxyribonucleoside triphosphates in
polymerisation.

2. W o AW fafan e TR gy wesil % IeH % g fEfE foea S
Gohal ® | 1

Name two diseases whose spread can be controlled by the eradication of
Aedes mosquitoes.

3. OMd § 9rgiehisd UY 99 | fopd YehR T8l Ifcted YeH shid 3 2 1

How do cytokine barriers provide innate immunity in humans ?

4., T=afafea & 9w fafa . 1

(a) 15 Tafcea 9 qd U (VW) o T9E TTEHS
(b) 2 fufer o qd qeff srshient & =rE-Toel § @Y ATl TEEe

Write the names of the following :
(a) A 15 mya primate that was ape-like

(b) A 2 mya primate that lived in East African grasslands

5. Uh-SgfeM H B 91 39 (e GiEdd @1 3g@ hife T g 9@
e $gfer 1 a8 E W o GeW & ST R | 1

Mention the chemical change that proinsulin undergoes, to be able to act
as mature insulin.
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SECTION B
6. ToFMI-HeligR T HHA &l I o foiw g § Arsgion &l 71 § g9R =g

IYeh! HATE AN TE R |
(a) UH < geusial Sl sz i s g & rgeee &1 gagq a9 |
(b)  HAGR HHA! bl THE! o 38 TR o GAH shl TE9Ihdl 1 T8l aldt 2 2

Your advice is sought to improve the nitrogen content of the soil to be

used for cultivation of a non-leguminous terrestrial crop.
(a) Recommend two microbes that can enrich the soil with nitrogen.

(b)  Why do leguminous crops not require such enrichment of the soil ?

7.  WE A S @ foh TRl iy 6w SR A Ve gt Wi @ diet
ThTA @l & | gref-aqett 4 SISmfordy THieRtor & Tg™dl 9 3Hhl oIred]

form g <1 2 2
SPCH

T ST Hhrgeh! HITERT H TIY hrgeh a1 aial, T off ... I wifvmew §

HeAT & BT | SRS I | 2

With the help of an algebraic equation, how did Hardy-Weinberg explain
that in a given population the frequency of occurrence of alleles of a gene
is supposed to remain the same through generations ?

OR

Although a prokaryotic cell has no defined nucleus, yet DNA is not
scattered throughout the cell. Explain.

8.  T.U. MG % 3Tehiel, HiTHIAT, o ‘R HoS & HF ATHH AMTNH TG
 THIRd TR T IT=R gRT s H < A I ToEar gar- | frg TR
eIl <t ? IR =00 H 35eh! ST I | 2

How did a citizen group called Friends of Arcata Marsh, Arcata,
California, USA, help to improve water quality of the marshland using

Integrated Waste Water Treatment ? Explain in four steps.
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. IR AUE IUH el AT I TH A3 fR T g% B | 39 qhAlh I AW
fefau forees g caTet woe i wret difeat 6 o<t gafsa § aifoq aeon 6
T ST W @ ghfead fran s o | 38 fafy i e ot fifse | 2

You have obtained a high yielding variety of tomato. Name and explain
the procedure that ensures retention of the desired characteristics
repeatedly in large populations of future generations of the tomato crop.

10. (a) T&0%F 31 % @ g =1 9m fiflay | 98 9tg @ forg 3R aed i ST

37
(b) #ME IR R TGS & J9ET &l Al | 2
(a)  Name the source plant of heroin drug. How is it obtained from the
plant ?

(b)  Write the effects of heroin on the human body.

@vE C
SECTION C
11. Ui fopfaa (afeaa) Aa Yeem] 1 o SA1ST | $Heh i 9T Sl ATHIfRd T
3Tk HY ey | 3

Draw a diagram of a mature human sperm. Label any three parts and
write their functions.

12. (a) WATAIR & U AW faRge don udu. fwRiuen (S
JfreTdl) § gHeh! YfHehT T UM HIfT |
(b) ELUAT. IS qehieh o hig g AN AT | 3

(a) Expand VNTR and describe its role in DNA fingerprinting.

(b)  List any two applications of DNA fingerprinting technique.
13.  ATNFHHeH qon ANeheH # faug FHIfT | T &1 Th-Th 3gew ft dfe | 3

Differentiate between Parthenocarpy and Parthenogenesis. Give one
example of each.

14. Tafeen &1 gfE & ot gan Arareti 1 I8 F@E & I @ foh b &9
Targr3ti o folu TquT Tty B | 91 3719 S84 HgHd & ? SRV dfgd 31U I
1 gfe Hifse | 3

Medically it is advised to all young mothers that breastfeeding is the best
for their newborn babies. Do you agree ? Give reasons in support of your
answer.
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15.

16.

17.

18.

19.

57/1

gfern g “fem-fafor < ferenfafe i sarean hifve | geet 9 fom-fuafor 9 97
Torg R fig B 2 3

Explain the mechanism of ‘sex determination’ in birds. How does it differ
from that of human beings ?

(a)  SAINUFE 1 forsh S-SR o fopE JehR T8 gl ?

(b) Y ITATT T A el FRINUE &1 AW forget Imehl srifafy
Ui T | 3
(a)  How has the development of bioreactor helped in biotechnology ?

(b) Name the most commonly used bioreactor and describe its
working.

g S1.UA. T, SEifiehl § fefaRaa i yiies Sl Ime Ta® & THh-Uh
3CTE0T <hl HgRdT ¥ hifu : 3
(a) Yfdees TomEy

(b) TAISHS

Explain the roles of the following with the help of an example each in
recombinant DNA technology :

(a)  Restriction Enzymes
(b)  Plasmids

WEEEE § dfg: e, dfg:ghol a9l RS (ThT) Ughaal hl ST
HIT | 3

Explain out-breeding, out-crossing and cross-breeding practices in animal
husbandry.

(a) Sfoes fopam i wa digenl o frmor & forw et i sen Sa e
1 ThF1 34 B | Sifae fiag Fife

(b) & T % €9 H ITAM AT I ATl S{aTY], Shaeh TF i F Th-Th
3T G | 3

(a)  Organic farmers prefer biological control of diseases and pests to
the use of chemicals for the same purpose. Justify.

(b)  Give an example of a bacterium, a fungus and an insect that are
used as biocontrol agents.
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(a) EHEY T GHSTG LTS | fawg i |
(b) TfaiRad g=t § ¥ S0 T AR I T Hleh [IRAT :
() ool wd dfewi  d@
(i)  h3eh! &S
(if) ~ sFfafern Td Fepifeer & Jam
(iv) Tohiehg TR 3TE < g
(a)  Differentiate between analogous and homologous structures.
(b)  Select and write analogous structures from the list given below :
(1) Wings of butterfly and birds
(i1)  Vertebrate hearts
(iii) Tendrils of bougainvillea and cucurbita
(iv)  Tubers of sweet potato and potato

(a) “ATd AT e vra o uiiad fafawar sifees 8 17 w1 o9 3@ wuw @
HEHA & ? RO Fad §C AT I h1 I HI |
(b) AR Sa-fafayar qen S (Fhefs) Sa-fafagar 4 o fafge s
Sfaes wreT & avft Tl ¥ uiteferd gia § |
rerE

e fort 78 9 wrel anfed 7t o1 foms fomam SIam 8, a1 ¢ 6 A8 W U
1A I9TE <hHl =TT hIY |

(a) “India has greater ecosystem diversity than Norway.” Do you
agree with the statement ? Give reasons in support of your answer.

(b)  Write the difference between genetic biodiversity and species
biodiversity that exists at all the levels of biological organisation.

OR

Explain the effect on the characteristics of a river when urban sewage is
discharged into it.

TaTg o Utdl W [Heqrems FThITHIRMET % HhAvl o 0 § THIGT IR
TaTEeh o €9 H ITAN fohdl TR HETH @1 7 ? Tel 3TIhH | SATEAT hIf |

How has the use of Agrobacterium as vectors helped in controlling

Meloidegyne incognitia infestation in tobacco plants ? Explain in correct

sequence.
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SECTION D

23. IY-UGYY % FHRU ¥ h Ik WU H A hl e %k TRd FR B AR
AR Sga SAfeh falad 8 T 310 wreed &l et W off 7 | 5 Wl |
1Y < TUE HAd AR & Th U89 Gohl 8, IAH fulhcdehl | e

IR S CAC T o

(a)  STY-SGHUT o Gl @ HRHI H 3g@ HIWT |

(b)  AY-UGEU % HRU IIGHl TS WHEl W US4 AT HIS QA Bl-eheh THTE
faflew |

(c) 3 faerer™@ & Shi-add & hted hl 3 ¥ faene™ @ mea™ &+
&1 H ATg-5gul Uehd o ToTq ool # STmeehar MM o STrSH
foru fenedi <1 prishut w1 ggma ST | 4

Looking at the deteriorating air quality because of air pollution in many
cities of the country, the citizens are very much worried and concerned
about their health. The doctors have declared health emergency in the

cities where the air quality is very severely poor.
(a) Mention any two major causes of air pollution.

(b)  Write any two harmful effects of air pollution to plants and

humans.

(c) As a captain of your school Eco-club, suggest any two programmes
you would plan to organise in the school so as to bring awareness
among the students on how to check air pollution in and around

the school.
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SECTION E

24. (a) ot areHi 1 foRdl o1 gheAt 1 AUl hIfT St TegmE qen wiHYeE
STy Lt § |

(b) U SFASISH o AU hl ThHT Toh HER IR H WEHIAR b ol
% IR Tgfe=m e i qitarersti 1 guiH HifsT | 5

STt
(a) HHd T | ATda =sh <hl AR iU |
(b) HHa foml # e = h A5 gug 1 Fues 3y % w9 § fRE

Jh eIk gl Hehdl @ ? 5

(a)  Describe any two devices in a flowering plant which prevent both
autogamy and geitonogamy.

(b)  Explain the events upto double fertilisation after the pollen tube

enters one of the synergids in an ovule of an angiosperm.

OR
(a)  Explain menstrual cycle in human females.

(b)  How can the scientific understanding of the menstrual cycle of
human females help as a contraceptive measure ?

25. (a) 39 S{ig o a3+ A faRgu fSEehT 39 aie g A R 3T
IR 3 o794 AT § foRam e | ST o ded § Fgerar 3R e o
o Tegey U 3 g fopu U 31eweH hil s i |
(b) WA < |1 H A §C TLloe o S fomur (S /i) 6 s e
Jeh i ? 5

AYAT
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(a) HiaE Thes g ufquiica @ fagra (= ) faRew | = g6k
%S 39E1E Hl & ? SR FdTd §Y Teh 3GTR01 <l el § 9 I
gfe <hIfT |

(b) ‘EUAE fagra W SaUEEE Thid w1 WU TR TR gI S
Tufther < TN gRT TI & & U o ? FHEST | 5

(a)  Write the scientific name of the organism Thomas Hunt Morgan
and his colleagues worked with for their experiments. Explain the
correlation between linkage and recombination with respect to
genes as studied by them.

(b)  How did Sturtevant explain gene mapping while working with
Morgan ?

OR

(a)  State the ‘Central dogma’ as proposed by Francis Crick. Are there
any exceptions to it ? Support your answer with a reason and an
example.

(b) Explain how the biochemical characterisation (nature) of
‘Transforming Principle’ was determined, which was not defined
from Griffith’s experiments.

26. (a) Toftm arota wrehl o ufa fafym Sqei <t fm=fifaa sfshamd ftefera
B & | I o Th-Uh 3G hl HERIAT T $ehT qUMH HIT |
i) T e
(i)  HEIU T
(i) e T
(Gv) Trorfea s
(b) 80 feraferai =1 weh wwE H afe wh " # 8 faafer™i i gog & St
7, 1 38 srafy | faafert i wmf & gy gt it momn Hifs | 5

YT

o7 Iﬂﬁm



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

wwwwwwwww

(a) Torelt urfasr & 90T TR o Brar 8 2 39 Gy 0 ‘fova s (wEh
%)’ T AT AT B 2

(b) Torell urfta & ‘e diwes T i fiert 1 =me HifT |

(¢) Ueh UTehideh WINGH § TG @ @, IR0 @a J@el 8 fh8 Jh
TG § ? 5

(a)  Following are the responses of different animals to various abiotic
factors. Describe each one with the help of an example.

1) Regulate
(ii))  Conform
(iii) Migrate
(iv)  Suspend
(b)  If 8 individuals in a population of 80 butterflies die in a week,

calculate the death rate of population of butterflies during that
period.

OR

(a)  What is a trophic level in an ecosystem ? What is ‘standing crop’
with reference to it ?

(b)  Explain the role of the ‘first trophic level’ in an ecosystem.

(c) How is the detritus food chain connected with the grazing food
chain in a natural ecosystem ?
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